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Integralrechnung

Lösung Aufgabe 1:

(a)
a

2
x2 + bx + C

(b)
1

a
ln(ax + b) + C

(c) −
1

4x4
+ C

(d) −
1

3
cos 3x + C

Lösung Aufgabe 2:

(a)

∫

dx
x2

x3 + 1
=

1

3

∫

dx g′(x)
1

g(x)
=

1

3
ln g(x) + C =

1

3
ln(x3 + 1) + C

mit g(x) = x3 + 1 und g′(x) = 3x2.

(b)

∫

dx
cos x

sin x
=

∫

dx g′(x)
1

g(x)
= ln g(x) + C = ln sin x + C

mit g(x) = sin x und g′(x) = cos x.

(c)

∫

dx ecos x sin x = ecos x + C

(d)

∫
dx

sinh x
= 2

∫
dx

ex − e−x
= 2

∫
dy

y

1

y − 1/y
= 2

∫
dy

y2 − 1
x = ln y ⇒ x′ = 1/y

1

y2 − 1
=

A

y − 1
+

B

y + 1
⇒ A + B = 0, A −B = 1 ⇒ A =

1

2
= −B, so dass

∫
dx

sinh x
=

∫

dy

{
1

y − 1
−

1

y + 1

}

= ln
y − 1

y + 1
+C = ln

ex − 1

ex + 1
+C = ln(tanh x/2)+

C

(e)

∫

dx tanh x =

∫

dx
sinh x

cosh x
= ln(cosh x) + C

Lösung Aufgabe 3:

(a)

∫

dx x2ex =

∫

dx x2(ex)′ = x2ex
−

∫

dx 2xex = x2ex
− 2

∫

dx x(ex)′

= x2ex
− 2xex + 2

∫

dx ex
⇒

∫

dx ex cos x =
1

2
ex(cos x + sin x) + C

1



(b)

∫

dx
ln x

x
=

∫

dx

(
d

dx
ln x

)

ln x = ln2 x −

∫

dx
ln x

x

⇒

∫

dx
ln x

x
=

1

2
ln2 x

(c)

∫

dx ex sin2 x =

∫

dx ex 1

2
[1 − cos 2x] =

1

2
ex

−
1

2

∫

dx ex cos 2x,

wobei
∫

dx ex cos 2x = ex cos 2x + 2

∫

dx ex sin 2x = ex(cos 2x + 2 sin 2x) − 4

∫

dxex cos 2x

⇒

∫

dx ex cos(2x) =
1

5
ex(cos 2x + 2 sin 2x), so dass

∫

dx ex sin2 x =
1

2
ex

−
1

10
ex(cos 2x + 2 sin 2x)

Lösung Aufgabe 4:

(a)

∫

dx
x2

x2 − a2
=

∫

dx
x2 + a2 − a2

x2 − a2
=

∫

dx

{

1 −
a2

x2 − a2

}

= x − a2

∫

dx
1

x2 − a2
= x −

a

2
ln

x − a

x + a
(letzter Schritt: siehe Vorlesung)

(b)

∫

dx
x + 7

x2 = 3x + 2
=

∫

dx
x + 7

(x − 2)(x − 1)
= ⊗

NR: x2
− 3x + 2 = 0 ⇒ x =

3

2
±

√

9

4
− 2 =

3

2
±

1

2
⇒ x = 1 oder x = 2.

x + 7

(x − 2)(x − 1)
=

A

x − 2
+

B

x − 1
⇒ A + B = 1, A + 2B = −7

⇒ A = 9, B = −8.

⊗ =

∫

dx

{
9

x − 2
−

8

x − 1

}

= 9 ln(x − 2) − 8 ln(x − 1).

(c)

∫

dx
1

ex − 1
=

∫

dy
1

y

1

y − 1
= ⊗

x = ln y ⇒ x′ = 1

y

1

y(y − 1)
=

A

y
+

B

y − 1
⇒ A + B = 0, −A = 1 ⇒ A = −B = −1.

⊗ =

∫

dy

{
1

y − 1
−

1

y

}

= ln
y − 1

y
= ln

ex − 1

ex
= ln(1 − e−x)

Lösung Aufgabe 5:

(a) y = ±

√

b2 −
b2

a2
x2 = ±b

√

1 −
x2

a2

⇒ F = 2

∫ a

−a

dx b

√

1 −
x2

a2
= 2b

∫ a

−a

dx

√

1 −
x2

a2

2



x = a sin φ ⇒ x′ = a cos φ

F = 2b

∫ π/2

−π/2

dφ a cos φ

√

1 − sin2 φ = 2ab

∫ π/2

−π/2

dφ cos2 φ

︸ ︷︷ ︸

π/2

= πab.

(b) V =

∫ a

−a

dx πb2

(

1 −
x2

a2

)

= 2πab2
− π

b2

a2

∫ a

−a

dx x2 = 2πab2
−

2π

3
ab2 =

4π

3
ab2

(c) f(x) = r −
r

h
x

x

y

z

h

r

V =

∫ h

0

dx π
(

r −
r

h
x
)2

= πr2

∫ h

0

dx

(

1 −
2x

h
+

x2

h2

)

= πr2

(

h − h +
h3

3h2

)

=
π

3
r2h.

3


